
FITNESS SYSTEMS 

S302 
PECTORAL FLY 

CUSTOMER CATALOG October '95 



r 
S302 

PECTORAL FLY 

CUSTOMER CATALOG Page 1 



s3·02 
PECTORAL FLY 

I 
I 
I 
I 

~ 
I 

CUSTOMER CATALOG 

I 
I 

I 

~ 
I 
I 
I 
I 
I 

Page 2 



S302 
PECTORAL FLY 

CUSTOMER CATALOG Page 3 



:USTOMER CATALOG 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

I 
I 

Page4 



S302 
PECTORAL FLY 

~USTOMER CATALOG Page 5 



S302 
PECTORAL FLY 

~USTOMER CATALOG 

\ 
\ 
\ 
\ . 
\ 
\ 
\ 
\ 
\ 
I 
\.... . ._ ._ \ 

....... ............. ....... \ 
._ ...1 

Page 6 



S302 
PECTORAL FLY 

STEP 1 

1/8" SINGLE SHANK BALL 

[ 
r 

STEP 2 

1/8" PRE-STRETCH CABLE 
COATED BLACK TO 3/16" 

MIL-SPEC GFl 257902 

124-------

STEP3 

1/8" SINGLE SHANK BALL 

t­
~ 
bJ) 
.ca 
~ 

0 
0 
~ 

~ 
< u 
~ 
~ 
=s 
0 
E-1 
00. 
~ 

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


S302 
PECTORAL FLY 

STEP4 STEP 5 

--------98 1/2--------

3/16" SINGLE SHANK BALL 

1/2- 13 WT. STACK 
CABLE BOLT 

3/16" PRE-STRETCH CABLE 
COATED BLACK TO 1/4 • 

t.41L-SPEC GF1687903 

LARGE CLEVIS 

3/1 6" SINGLE SHANK BALL 

1 /2" O.D. x 3/8" l.D. 
1/4" LG. BRONZE OIUTE 

SLEEVE BUSHING 

3/4" ROUND 
SPLIT RING 

co 
Q) 
bD ca 
~ 

0 
0 g 
< u 
~ 
~ 
~ 
0 
~ 
00 
~ 

https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


S302 
PECTORAL FLY 

~/ · 

:USTOMER CATALOG Page9 



Key 
No. Qty. Part Number 

1 1 61-S302-0l 

2 1 61-S302-07 

3 1 61-S302-08 

4 1 61-S302-02 

5 1 61-S302-03 

6 1 61-S302-09 

7 1 61-S302-13 

8 1 61-S302-12 

9 2 61-S302-15 

10 1 61-S302-14 

11 1 61-S302-06 

12 1 26-STD-SWTOPl 

13 10 26-STD-SW102 

14 10 26-STD-SWlOl 

15 2 26-STD-SG 111 

16 1 26-STD-SX125 

17 1 61-S302-0S 

18 2 26-STD-SSHl 18 

19 2 61-S302-16 

~USTOMER CATALOG 

~'1U~ 
PARTS LIST 

Description 

Bottom Tube 

Weight Stack Bottom Assembly 

Base Member 

Main Upright 

Back Pad Upright 

Seat Assembly 

Left Pee Arm 

Right Pee Arm 

Pee Arm R.O.M. 

Pee Arm Mount 

Weight Stack Top Assembly 

Top Weight Plate w/Stem 

8 1/4 lb. Intermediate Plate 

12 1/2 lb. Intermediate Plate 

3/4 Dia. Guide Rods 53 3/4 lg. 

Single Floating Pulley Bracket 

Seat Adjust 

53 3/4 Lg. Shields 

DOM Spacer 13/16" Long 

. 

--

. 

- -

- -

- - -

Page 10 



Key 
No. Qty. 

A 4 

B 4 

c 8 
D 5 

E 7 

F 4 

G 50 

H 24 

I 6 

J 2 

K 8 

L 3 

M 4 

N 4 

0 2 
p 2 

Q 1 

R 4 

s 2 

T 2 
u 2 

v 2 

w 1 

x 2 
y 1 

z 2 

AA 5 
AB 4 

u'.JU~ 

HARDWARE LIST 

Part Number Description 

ll-HEX-142 1/4" x 2" Hex Bolt 

12-LOK-14 1/4" Lock Nut 

ll-HEX-38112 3/8" x 1 1/2" Hex Bolt 

ll-HEX-382 3/8" x 211 Hex Bolt 

ll-HEX-38234 3/8" x 2 3/4" Hex Bolt 

ll-HEX-383 3/8" x 3 11 Hex Bolt 

13-FLT-38 3/8" Flat Washer 

12-LOK-38 3/8" Lock Nut 

ll-HEX-516114 5/16" x 1 1/4" Hex Bolt 

ll-HEX-5163 5/16" x 3" Hex Bolt 

13-FLT-516 5/16" Flat Washer 

26-STD-SM128 1/2" Pull Pin (Short) 

14-BRG-RADlPILP Pillow Block Bearing 

14-SCC-l l" Shaft Collar 

14-BSH-GRD34 3/4" Guide Rod Snap Bushing 

26-STD-SM200 Quick Release Cable Lock 

16-CAP-112112 1 1/2" x 1 1/211 End Cap 

16-CAP-22 2" x 2" End Cap 

19-GRP-78514T Tapered Grip 

19-WSB-1123 1 1/2" Rubber Donut 

19-WSB-123 1/2" Rubber Donut 

14-BRG-NYLl Nyliner Bushing 

26-STD-SU1034 10" x 3411 Tapered Back Pad 

26-STD-SU66 6" x 6" Arm Pad 

26-STD-SU911 Shell Seat Pad 

26-STD-PLAS112 Easy Glide Seat Sleeve 

18-PUL-312 3 1/2" Pulley 

ll-HEX-381 3/8" x l" Hex Bolt 

CUSTOMER CATALOG 

" " 

" " 

• " • 

" " 

" " 

" " 

" " " " 

-· 

Page 11 

https://www.gympart.com/itemdesc.aspx?ic=HSP3387&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=HSP3260&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=MDP139&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

